Operant Conditioning Theory

The activity of an organism which is observable and measurable by a person or an experimenter is known as behaviour. The examples of behaviour are activities like pressing a key or lever, uttering a word, solving problems and so on. Operant is the response made by an organism to the surrounding environment. In 1930s an American Psychologist, B.F. Skinner used the operant conditioning approach to the study of learning. For example, a dog is rewarded by food after he makes the appropriate behaviour when he is taught a trick. On the basis of this approach Skinner proposed a theory of learning called Operant Conditioning Theory. According to him a wide range of stimuli can be used to evoke operant behaviour. This can be brought under stimulus control through the process of discrimination. The basic operation in the Skinnerian experiment is to determine the rate at which a given operant (e.g., pulling a lever or pecking a key) is emitted under a given set of conditions. Operant Conditioning is also known as reinforcement conditioning. In it, instead with the stimuli, reinforcement is correlated with the response. Reward or reinforcement is impossible in operant conditioning unless response is emitted. In other words reinforcement becomes contingent upon the stimulus. The basic law underlying operant conditioning, according to Skinner, is that the conditioning is strengthened when the occurrence of an operant is followed by a reinforcing stimulus.  
In an experiment a hungry rat was caged in a box (known as Skinner’s box) when he demonstrated his theory of learning. The food was released when the rat after fretting about, pressed a liver accidently. Every time rat did this, it got food. After several repetitions the rat learnt that if he is hungry he can get food after pressing the lever. In other words we can say, food reinforces the rat’s activity of pressing the lever. Here behaviour and appropriate response are important factors. If reward is withheld repeatedly, the behaviour extinguishes.

Operant conditioning is a learning force which effects desired response more frequently by providing a reinforcing stimulus immediately following the response. The most important principle of this type of learning is that behaviour changes according to immediate consequences. Pleasurable consequences strengthen the behaviour while unpleasant ones weaken it.    
Principles of Operant Conditioning Learning 

Reinforcement

The most important aspect of Skinner’s theory of learning relates the role of reinforcement. Reinforcement is anything that increases the likelihood that a response will occur. It is defined by the effect that it has on behaviour – it increases or strengthens the response. An organism is presented with a particular stimulus – reinforcer – after it makes a response. The organism will tend to repeat the responses for which he is reinforced in a given situation. Skinner distinguished between a positive and a negative reinforcement. 
· Positive reinforcement is a stimulus which increases the probability of desired response. It can be a positive reward, praise, money, smile, money, a funny television programme, etc. on the delivery of which there is more likelihood of the desired response. 
· Negative reinforcement is such a stimulus reinforcement on the removal of which the desired behaviour is more likely to occur. For example, we can close doors and windows to avoid hearing loud noise, we can avoid wrong answers by giving right answers. In these examples noise and wrong answers are negative reinforcers. Thus a negative reinforcer is negative reward – the avoidance of which gives us relief from unpleasant status of affairs. Another reinforcement in operant conditioning is punishment. 
· Punishment is any change in the environment of any human or animal which, occurring after a given behaviour or response, reduces the likelihood of that behaviour occurring in the future. As with reinforcement, it is the behaviour, not the subject (human or animal), that is punished. Spanking a student when he throws a tantrum.  
Schedules of Reinforcement 

The procedure followed for the delivery of reinforcement is called schedule of reinforcement. There are four schedules of reinforcements, which are explained below: -

i) Fixed Ratio Schedule: In fixed ration schedule reinforcement is delivered after a specified number of correct responses. For example, when a learner raises his hand in class, the teacher calls on him every third time he raises his hand. The advantage of this schedule is it builds a high response rate. Disadvantage is irregular responding may occur if reinforcement is stopped.

ii) Variable Ratio Schedule: A learner is reinforced based on an average number of correct responses. For example, if the average number of correct responses are three, a teacher might call on a learner after he raises his hand two times and then after he raises his hand four times. Advantage of this schedule is learner’s rate of responding remains constant. However, it is not effective for teaching new behaviors is its advantage. 

iii) Fixed Interval Schedule: In this schedule of reinforcement a learner is reinforced following a specified amount of time. For example, reinforcement is provided for every five minutes of staying seated. This schedule is easy to implement. But the demerit of this schedule is  that earner may stop using target skill following reinforcement and begins to work again just before the next reinforcement period.
iv) Variable Interval Schedule: In variable schedule, reinforcement is provided after an average amount of time. For example, a teacher might provide reinforcement on an average of every five minutes. Sometimes the amount of time between reinforcement is longer than five minutes and sometimes it is shorter. This schedule is also easy to implement. But at the same time it is not effective for teaching new behaviors. 

